

The multiplicity of eigenvalues of a vectorial diffusion equations with discontinuous function inside a finite interval

Abdullah ERGÜN^a

^aVocational High School of Sivas, Cumhuriyet University

Abstract. In this study, m -dimensional vectorial diffusion equation with discontinuous function inside a finite interval is considered. Considering the asymptotic representation of the solution of the problem, we have obtained some conclusions about the multiplicity of eigenvalues. We have proved that, under certain conditions on potential matrix, the problem can only have a finite number of eigenvalues with multiplicity m .

section Introduction Consider the m -dimensional vectorial singular diffusion equations

$$-y'' + [2\lambda p(x) + q(x)] y = \lambda^2 \delta(x) y, \quad x \in (0, \pi) \quad (1)$$

$$y'(0) = \theta \quad (2)$$

$$y'(\pi) = \theta \quad (3)$$

where λ is the spectral parameter, $y = (y_1, y_2, \dots, y_m)^T$ is an m -dimensional vector function,

$$\delta(x) = \begin{cases} 1, & x \in (0, a_1) \\ \alpha^2, & x \in (a_1, a_2) \\ \beta^2, & x \in (a_2, \pi) \end{cases}$$

and $\alpha > 0$, $\alpha \neq 1$, $\beta > 0$, $\beta \neq 1$, $q(x) \in L_2[0, \pi]$, $p(x) \in W_2^1[0, \pi]$, $a_1, a_2 \in (0, \pi)$, $a_1 < a_2$. The potential matrix $(2\lambda p(x) + q(x))$ is an $m \times m$ real symmetric matrix function. θ denotes the m -dimensional zero vector.

Many studies on the theory of second-order differential operators have been studied in [7, 18]. One of the most important of these was made in 1946 by Titchmarsh [20]. In 1984, the studies on the spectral theory of singular differential operators were conducted by Levitan [21]. Many physical phenomena, such as fluid flow and heat dissipation [23], atomic mixing modelling [24] include a diffusion process. Singular differential operators with conditions of discontinuity are often used in mathematical physics, in geophysics and natural sciences. In general, these problems are associated with discontinuous material properties. For example; It is used to in determining the parameters of the electricity line in electronics [22]. Also, it is used to determine geophysical models for the release of the earth [9]. The discontinuity here is the reflection of

Corresponding author: AE mail address: aergun@cumhuriyet.edu.tr ORCID: <https://orcid.org/0000-0002-2795-8097>

Received: 19 June 2020; Accepted: 25 October 2020; Published: 31 October 2020

Keywords. Differential equations, Vectorial Diffusion operator, Multiplicity of eigenvalues.

2010 Mathematics Subject Classification. 34K08, 34K06, 34L10, 34E05

Cited this article as: Ergün A. The multiplicity of eigenvalues of a vectorial diffusion equations with discontinuous function inside a finite interval, Turkish Journal of Science. 2020, 5(2), 73 – 84.

the shear waves at the base of the earth’s crust. In 1999, C. L. Shen and C.T. Shies [5] studied the multiplicity of eigenvalues of the m -dimensional the vectorial Sturm-Liouville problem

$$-y'' + Q(x)y = \lambda y, \quad y(0) = y(1) = \theta$$

where Q is continuous $m \times m$ Jacobi matrix-valued function defined on $0 \leq x \leq 1$. Q. Kong [4] generalized to the case when Q is real symmetric. However, there are no such result for the discontinuous problem (1) – (3).

In this study, firstly we define the characteristic function of the eigenvalues of vectorial problem (1) – (3). Following this, we prove the conclusion that the eigenvalues of the problem coincide with the zeros of characteristic function. Then, we show the asymptotic forms of the solutions and obtain some results about multiplicity of the eigenvalues.

1. Characteristic function and asymptotics of solutions

Denote $H = L^2(I, C^m)$ the Hilbert space of vector-valued functions with the scalar product

$$(f, g) = \int_0^{a_1} g_1^* f_1 dx + \int_{a_1}^{a_2} g_2^* f_2 dx + \int_{a_2}^{\pi} g_r^* f_r dx = \int_0^{\pi} g^* f dx$$

where $f = (f_1, f_2, \dots, f_m)^T$, $g = (g_1, g_2, \dots, g_m)^T$ and $f_i, g_i \in L^2(I)$, $f_1(x) = f(x)|_{(0, a_1)}$, $f_2(x) = f(x)|_{(a_1, a_2)}$ and $f_r(x) = f(x)|_{(a_2, \pi)}$. We can define an operator L associated with the problem (1) – (3) on H

$$L : -y'' + [2\lambda p(x) + q(x)]y = \lambda^2 \delta(x)y, \quad y \in D(L)$$

$$D(L) = \{y \in H; y, y' \in AC[I, C^m]\}, \quad Ly \in L^2[I, C^m]$$

$$y'(0) = y'(\pi) = \theta.$$

Lemma 1.1. *The operator L is self-adjoint.*

The proof is similar to the scalar case in [12].

We consider the problem on the three intervals $(0, a_1)$, (a_1, a_2) and (a_2, π) respectively, where θ_m denotes $m \times m$ zero matrix and E_m denotes $m \times m$ identity matrix. On $(0, a_1)$, the matrix initial value problem

$$\begin{cases} -Y'' + (2\lambda p(x) + q(x))Y = \lambda^2 \cdot 1 \cdot Y, & x \in (0, a_1) \\ \phi_1(0, \lambda) = E_m, \phi_1'(0, \lambda) = \theta_m \end{cases} \tag{4}$$

has a unique solution $\phi_1(x, \lambda)$. What’s more, for any fixed $x \in (0, a_1)$, $\phi_1(x, \lambda)$ is an entire matrix function in λ [1], p17. By variation of constants, we have

$$\phi_1(x, \lambda) = \cos \lambda x E_m + \frac{1}{\lambda} \int_0^x \sin \lambda(x-t)(2\lambda p(t) + q(t))\phi_1(t, \lambda) dt. \tag{5}$$

on (a_1, a_2) the matrix value problem

$$\begin{cases} -Y'' + (2\lambda p(x) + q(x))Y = \lambda^2 \alpha^2 Y, & x \in (a_1, a_2) \\ \phi_2(a_1 + 0, \lambda) = \phi_1(a_1 - 0, \lambda) \\ \phi_2'(a_1 + 0, \lambda) = \phi_1'(a_1 - 0, \lambda) \end{cases} \tag{6}$$

has a unique solution $\phi_2(x, \lambda)$. In addition to, for any fixed $x \in (a_1, a_2)$, $\phi_2(x, \lambda)$ is an entire matrix function in λ . By variation of constants, we have

$$\begin{aligned} \varphi(x, \lambda) = & \alpha^+ e^{i\lambda\mu^+(x)} + \alpha^- e^{i\lambda\mu^-(x)} + \alpha^+ \int_0^{a_1} \frac{\sin \lambda(\mu^+(x)-t)}{\lambda} Q(t) y(t, \lambda) dt \\ & + \alpha^- \int_0^{a_1} \frac{\sin \lambda(\mu^-(x)-t)}{\lambda} Q(t) y(t, \lambda) dt + \int_{a_1}^x \frac{\sin \lambda\alpha(x-t)}{\lambda\alpha} Q(t) y(t, \lambda) dt \end{aligned} \tag{7}$$

where $\mu^\pm(x) = \pm\alpha x \mp \alpha a_1 + a_1$, $Q(t) = 2\lambda p(t) + q(t)$,

or

$$\begin{aligned} \phi_2(x, \lambda) &= \cos \lambda \alpha (x - a_1) \phi_1(a_1 - 0) E_m + \frac{1}{\lambda \alpha} \sin \lambda \alpha (x - a_1) \phi_1'(a_1 - 0) E_m \\ &+ \int_{a_1}^x \frac{\sin \lambda \alpha (x-t)}{\lambda \alpha} (2\lambda p(t) + q(t)) \phi_2(t, \lambda) dt. \end{aligned} \tag{8}$$

on (a_2, π) the matrix value problem

$$\begin{cases} -Y'' + (2\lambda p(x) + q(x)) Y = \lambda^2 \beta^2 Y, & x \in (a_2, \pi) \\ \phi_3(a_2 + 0, \lambda) = \phi_2(a_2 - 0, \lambda) \\ \phi_3'(a_2 + 0, \lambda) = \phi_2'(a_2 - 0, \lambda) \end{cases} \tag{9}$$

has a unique solution $\phi_3(x, \lambda)$. In addition to, for any fixed $x \in (a_2, \pi)$, $\phi_3(x, \lambda)$ is an entire matrix function in λ . By variation of constants, we have

$$\begin{aligned} \phi_3(x, \lambda) &= \alpha^+ \beta^+ e^{i\lambda k^+(x)} + \alpha^- \beta^- e^{i\lambda k^-(x)} + \alpha^+ \beta^- e^{i\lambda s^+(x)} + \alpha^- \beta^+ e^{i\lambda s^-(x)} \\ &+ \alpha^+ \beta^+ \int_0^{a_1} \frac{\sin \lambda (k^+(x)-t)}{\lambda} Q(t) y(t, \lambda) dt + \alpha^+ \beta^- \int_0^{a_1} \frac{\sin \lambda (s^+(x)-t)}{\lambda} Q(t) y(t, \lambda) dt \\ &+ \alpha^- \beta^- \int_0^{a_1} \frac{\sin \lambda (k^-(x)-t)}{\lambda} Q(t) y(t, \lambda) dt + \alpha^- \beta^+ \int_{a_1}^{a_2} \frac{\sin \lambda (s^-(x)-t)}{\lambda} Q(t) y(t, \lambda) dt \\ &+ \frac{\beta^+}{\alpha} \int_0^{a_1} \frac{\sin \lambda (\beta x - \beta a_2 + \alpha a_2 - \alpha t)}{\lambda} Q(t) y(t, \lambda) dt \\ &- \frac{\beta^-}{\alpha} \int_0^{a_1} \frac{\sin \lambda (\beta x - \beta a_2 - \alpha a_2 + \alpha t)}{\lambda} Q(t) y(t, \lambda) dt + \int_{a_2}^x \frac{\sin \lambda \beta (x-t)}{\lambda \beta} Q(t) y(t, \lambda) dt \end{aligned} \tag{10}$$

where $Q(t) = 2\lambda p(t) + q(t)$, $\mu^\pm(x) = \pm\alpha x \mp \alpha a_1 + a_1$, $\alpha^\pm = \frac{1}{2} \left(1 \pm \frac{1}{\alpha}\right)$, $\beta^\pm = \frac{1}{2} \left(1 \pm \frac{1}{\beta}\right)$, $k^\pm(x) = \beta x - \beta a_2 + \mu^\pm(a_2)$, $s^\pm(x) = -\beta x + \beta a_2 + \mu^\pm(a_2)$,

or

$$\begin{aligned} \phi_3(x, \lambda) &= \cos \lambda \beta (x - a_2) \phi_2(a_2 - 0, \lambda) E_m + \frac{1}{\lambda \beta} \sin \lambda \beta (x - a_2) \phi_2'(a_2 - 0, \lambda) E_m \\ &+ \int_{a_2}^x \frac{\sin \lambda \beta (x-t)}{\lambda \beta} (2\lambda p(t) + q(t)) \phi_3(t, \lambda) dt. \end{aligned} \tag{11}$$

Let

$$\phi(x, \lambda) = \begin{cases} \phi_1(x, \lambda), & x \in (0, a_1) \\ \phi_2(x, \lambda), & x \in (a_1, a_2) \\ \phi_3(x, \lambda), & x \in (a_2, \pi) \end{cases} .$$

Then, any solution of the equations (1) satisfying boundary condition (2) can be expressed as

$$y(x, \lambda) = \phi(x, \lambda) c_1 = \begin{cases} \phi_1(x, \lambda) c_0, & x \in (0, a_1) \\ \phi_2(x, \lambda) c_0, & x \in (a_1, a_2) \\ \phi_3(x, \lambda) c_0, & x \in (a_2, \pi) \end{cases} \tag{12}$$

where c_1 is an arbitrary m -dimensional constant vector. If λ is an eigenvalue of the problem (1) – (3), then $c_0 \neq \theta$ and $y(x, \lambda)$ satisfies the boundary condition at $x = \pi$, that is,

$$y'(\pi, \lambda) = \phi'(\pi, \lambda) c_0 = \phi_3'(\pi, \lambda) c_0 = \theta.$$

Thus, we get

$$\det(\phi_3'(\pi, \lambda)) = 0.$$

Similarly, on (a_2, π) , consider the matrix initial value problem

$$\begin{cases} -Y'' + (2\lambda p(x) + q(x)) Y = \lambda^2 \beta^2 Y, & x \in (a_2, \pi) \\ \psi_3(\pi, \lambda) = E_m, \psi_3'(\pi, \lambda) = \theta_m \end{cases} . \tag{13}$$

The problem (13) has a unique solution $\psi_3(x, \lambda)$. Furthermore, for any fixed $x \in (a_2, \pi)$, $\psi_3(x, \lambda)$ is an entire matrix function in λ .

Consider the matrix initial value problem on (a_1, a_2) ,

$$\begin{cases} -Y'' + (2\lambda p(x) + q(x))Y = \lambda^2 \alpha^2 Y, & x \in (a_1, a_2) \\ \psi_3(a_2 + 0, \lambda) = \psi_2(a_2 - 0, \lambda) \\ \psi'_3(a_2 + 0, \lambda) = \psi'_2(a_2 - 0, \lambda) \end{cases} . \tag{14}$$

The problem (14) has a unique solution $\psi_2(x, \lambda)$. Furthermore, for any fixed $x \in (a_1, a_2)$, $\psi_2(x, \lambda)$ is an entire matrix function in λ .

Consider the matrix initial value problem on $(0, a_1)$,

$$\begin{cases} -Y'' + (2\lambda p(x) + q(x))Y = \lambda^2 \cdot 1 \cdot Y, & x \in (0, a_1) \\ \psi_2(a_1 + 0, \lambda) = \psi_1(a_1 - 0, \lambda) \\ \psi'_2(a_1 + 0, \lambda) = \psi'_1(a_1 - 0, \lambda) \end{cases} \tag{15}$$

The problem (15) has a unique solution $\psi_1(x, \lambda)$. Furthermore, for any fixed $x \in (0, a_1)$, $\psi_1(x, \lambda)$ is an entire matrix function in λ . Let

$$\psi(x, \lambda) = \begin{cases} \psi_1(x, \lambda), & x \in (0, a_1) \\ \psi_2(x, \lambda), & x \in (a_1, a_2) \\ \psi_3(x, \lambda), & x \in (a_2, \pi) \end{cases} .$$

Then, any solution of the equations (1) satisfying boundary condition (3) can be expressed as

$$y(x, \lambda) = \psi(x, \lambda) c_2 = \begin{cases} \psi_1(x, \lambda) c_1, & x \in (0, a_1) \\ \psi_2(x, \lambda) c_1, & x \in (a_1, a_2) \\ \psi_3(x, \lambda) c_1, & x \in (a_2, \pi) \end{cases} \tag{16}$$

where c_2 is an arbitrary m -dimensional constant vector. If λ is an eigenvalue of the problem (1) – (3), then $c_1 \neq \theta$ and $y(x, \lambda)$ satisfies the boundary condition at $x = 0$, that is,

$$y'(0, \lambda) = \psi'(0, \lambda) c_1 = \psi'_1(0, \lambda) c_1 = \theta$$

Thus, we get

$$\det(\psi'_1(0, \lambda)) = 0.$$

Let $\Delta_j(\lambda) = W(\phi_j(x, \lambda), \psi_j(x, \lambda))$ be the Wronskian of solution matrices $\phi_j(x, \lambda)$ and $\psi_j(x, \lambda)$, $j = 1, 2, 3$, that is,

$$\begin{aligned} \Delta_1(\lambda) &= \begin{vmatrix} \phi_1(x, \lambda) & \psi_1(x, \lambda) \\ \phi'_1(x, \lambda) & \psi'_1(x, \lambda) \end{vmatrix} . \Delta_2(\lambda) = \begin{vmatrix} \phi_2(x, \lambda) & \psi_2(x, \lambda) \\ \phi'_2(x, \lambda) & \psi'_2(x, \lambda) \end{vmatrix} . \\ \Delta_3(\lambda) &= \begin{vmatrix} \phi_3(x, \lambda) & \psi_3(x, \lambda) \\ \phi'_3(x, \lambda) & \psi'_3(x, \lambda) \end{vmatrix} . \end{aligned} \tag{17}$$

Lemma 1.2. $\Delta_1(\lambda) = \Delta_2(\lambda) = \Delta_3(\lambda)$ for all $\lambda \in \mathbb{C}$.

Proof. Because the Wronskian of the solution matrices $\phi_j(x, \lambda)$ and $\psi_j(x, \lambda)$ is independent of x ,

$$\begin{aligned} \Delta_3(\lambda) &= \Delta_3(\lambda)|_{x=a_2+0} = \begin{vmatrix} \phi_3(a_2 + 0, \lambda) & \psi_3(a_2 + 0, \lambda) \\ \phi'_3(a_2 + 0, \lambda) & \psi'_3(a_2 + 0, \lambda) \end{vmatrix} = \begin{vmatrix} \phi_2(a_2 - 0, \lambda) & \psi_2(a_2 - 0, \lambda) \\ \phi'_2(a_2 - 0, \lambda) & \psi'_2(a_2 - 0, \lambda) \end{vmatrix} \\ &= \begin{vmatrix} \phi_2(x, \lambda) & \psi_2(x, \lambda) \\ \phi'_2(x, \lambda) & \psi'_2(x, \lambda) \end{vmatrix} \Big|_{x=a_2-0} = \Delta_2(\lambda) = \Delta_2(\lambda)|_{x=a_1+0} = \begin{vmatrix} \phi_2(a_1 + 0, \lambda) & \psi_2(a_1 + 0, \lambda) \\ \phi'_2(a_1 + 0, \lambda) & \psi'_2(a_1 + 0, \lambda) \end{vmatrix} \\ &= \begin{vmatrix} \phi_1(a_1 - 0, \lambda) & \psi_1(a_1 - 0, \lambda) \\ \phi'_1(a_1 - 0, \lambda) & \psi'_1(a_1 - 0, \lambda) \end{vmatrix} = \begin{vmatrix} \phi_1(x, \lambda) & \psi_1(x, \lambda) \\ \phi'_1(x, \lambda) & \psi'_1(x, \lambda) \end{vmatrix} \Big|_{x=a_1-0} = \Delta_1(\lambda) \end{aligned}$$

the proof is completed. \square

Denote $\Delta(\lambda) = \Delta_1(\lambda) = \Delta_2(\lambda) = \Delta_3(\lambda)$, we have the following lemma.

Lemma 1.3. λ is an eigenvalue of (1) – (3) if and only if $\Delta(\lambda) = 0$.

Proof. Necessity: Assume that λ_0 is an eigenvalue of (1) – (3). $y(x, \lambda_0)$ is the eigenfunctions corresponding to λ_0 , then by (16) we have

$$y(x, \lambda_0) = \phi(x, \lambda_0) c_{30} = \begin{cases} \phi_1(x, \lambda_0) c_{30}, & x \in (0, a_1) \\ \phi_2(x, \lambda_0) c_{30}, & x \in (a_1, a_2) \\ \phi_3(x, \lambda_0) c_{30}, & x \in (a_2, \pi) \end{cases} \tag{18}$$

$$y(x, \lambda_0) = \psi(x, \lambda_0) c_{40} = \begin{cases} \psi_1(x, \lambda_0) c_{40}, & x \in (0, a_1) \\ \psi_2(x, \lambda_0) c_{40}, & x \in (a_1, a_2) \\ \psi_3(x, \lambda_0) c_{40}, & x \in (a_2, \pi) \end{cases} \tag{19}$$

c_{30}, c_{40} are m -dimensional nonzero constant vector. So from (18) and (19), we have

$$\left. \begin{aligned} \phi_1(x, \lambda_0) c_{30} &= \psi_1(x, \lambda_0) c_{40} \\ \phi'_1(x, \lambda_0) c_{30} &= \psi'_1(x, \lambda_0) c_{40} \end{aligned} \right\} x \in (0, a_1).$$

By direct simplification, we get

$$\begin{pmatrix} \phi_1(x, \lambda_0) & -\psi_1(x, \lambda_0) \\ \phi'_1(x, \lambda_0) & -\psi'_1(x, \lambda_0) \end{pmatrix} \cdot \begin{pmatrix} c_{30} \\ c_{40} \end{pmatrix} = \begin{pmatrix} \theta \\ \theta \end{pmatrix}.$$

Because $c_{30}, c_{40} \neq 0$, the coefficient determinant of above linear system of equations

$$\begin{aligned} \begin{vmatrix} \phi_1(x, \lambda_0) & -\psi_1(x, \lambda_0) \\ \phi'_1(x, \lambda_0) & -\psi'_1(x, \lambda_0) \end{vmatrix} &= (-1)^m \begin{vmatrix} \phi_1(x, \lambda_0) & \psi_1(x, \lambda_0) \\ \phi'_1(x, \lambda_0) & \psi'_1(x, \lambda_0) \end{vmatrix} \\ &= (-1)^m \Delta_1(\lambda_0) = \Delta_2(\lambda_0) = \Delta_3(\lambda_0) = \Delta(\lambda_0) = 0 \end{aligned}$$

Sufficiency:

If $\lambda_0 \in \mathbb{C}$, $\Delta(\lambda_0) = 0$. Then the linear systems of equations

$$\begin{aligned} \begin{pmatrix} \phi_1(x, \lambda_0) & \psi_1(x, \lambda_0) \\ \phi'_1(x, \lambda_0) & \psi'_1(x, \lambda_0) \end{pmatrix} \cdot \begin{pmatrix} c_0 \\ c_1 \end{pmatrix} &= \begin{pmatrix} \theta \\ \theta \end{pmatrix}, \begin{pmatrix} \phi_2(x, \lambda_0) & \psi_2(x, \lambda_0) \\ \phi'_2(x, \lambda_0) & \psi'_2(x, \lambda_0) \end{pmatrix} \cdot \begin{pmatrix} c_0 \\ c_1 \end{pmatrix} = \begin{pmatrix} \theta \\ \theta \end{pmatrix} \\ \begin{pmatrix} \phi_3(x, \lambda_0) & \psi_3(x, \lambda_0) \\ \phi'_3(x, \lambda_0) & \psi'_3(x, \lambda_0) \end{pmatrix} \cdot \begin{pmatrix} c_0 \\ c_1 \end{pmatrix} &= \begin{pmatrix} \theta \\ \theta \end{pmatrix} \end{aligned}$$

have nonzero solutions. By a direct computation, we get

$$\left. \begin{aligned} \phi_1(x, \lambda_0) c_0 &= -\psi_1(x, \lambda_0) c_1 \\ \phi'_1(x, \lambda_0) c_0 &= -\psi'_1(x, \lambda_0) c_1 \end{aligned} \right\} x \in (0, a_1), \quad \left. \begin{aligned} \phi_2(x, \lambda_0) c_0 &= -\psi_2(x, \lambda_0) c_1 \\ \phi'_2(x, \lambda_0) c_0 &= -\psi'_2(x, \lambda_0) c_1 \end{aligned} \right\} x \in (a_1, a_2)$$

and

$$\left. \begin{aligned} \phi_3(x, \lambda_0) c_0 &= -\psi_3(x, \lambda_0) c_1 \\ \phi'_3(x, \lambda_0) c_0 &= -\psi'_3(x, \lambda_0) c_1 \end{aligned} \right\} x \in (a_2, \pi).$$

Denote

$$y(x, \lambda_0) = \begin{cases} \phi_1(x, \lambda_0) c_0 = -\psi_1(x, \lambda_0) c_1, & x \in (0, a_1) \\ \phi_2(x, \lambda_0) c_0 = -\psi_2(x, \lambda_0) c_1, & x \in (a_1, a_2) \\ \phi_3(x, \lambda_0) c_0 = -\psi_3(x, \lambda_0) c_1, & x \in (a_2, \pi) \end{cases}.$$

We note that $y(x, \lambda_0)$ satisfies the boundary condition (2), (3). That is, $y(x, \lambda_0)$ is the eigenfunctions corresponding to λ_0 . Thus λ_0 is an eigenvalue of the problem (1) – (3).

□

Remark 1.4. As two especial case

$$\Delta(\lambda) = \begin{vmatrix} \phi_1(x, \lambda_0) & \psi_1(x, \lambda_0) \\ \phi'_1(x, \lambda_0) & \psi'_1(x, \lambda_0) \end{vmatrix}_{x=0} = \begin{vmatrix} E_m & \psi_1(0, \lambda_0) \\ \theta_m & \psi'_1(0, \lambda_0) \end{vmatrix} = \det(\psi'_1(0, \lambda))$$

$$\Delta(\lambda) = \begin{vmatrix} \phi_3(x, \lambda_0) & \psi_3(x, \lambda_0) \\ \phi'_3(x, \lambda_0) & \psi'_3(x, \lambda_0) \end{vmatrix}_{x=\pi} = \begin{vmatrix} \phi_3(\pi, \lambda_0) & E_m \\ \phi'_3(\pi, \lambda_0) & \theta_m \end{vmatrix} = (-1)^m \det(\phi'_3(\pi, \lambda)).$$

Definition 1.5. $\Delta(\lambda)$ will be called the characteristic function of the eigenvalues of the problem (1) – (3).

Definition 1.6. If there is a $\Delta_1(\lambda)$ to be $\Delta(\lambda) = (\lambda - \lambda_0)^m \Delta_1(\lambda)$, algebraic multiplicity of eigenvalue λ is called m . The geometric multiplicity of λ as an eigenvalue of the problem (1) – (3) is defined to be the number of linearly independent solutions of the boundary value problem. If we denote $2m \times 2m$ matrices

$$A(x, \lambda_0) = \begin{pmatrix} \phi_1(x, \lambda_0) & \psi_1(x, \lambda_0) \\ \phi'_1(x, \lambda_0) & \psi'_1(x, \lambda_0) \end{pmatrix}, B(x, \lambda_0) = \begin{pmatrix} \phi_2(x, \lambda_0) & \psi_2(x, \lambda_0) \\ \phi'_2(x, \lambda_0) & \psi'_2(x, \lambda_0) \end{pmatrix} \text{ and}$$

$$C(x, \lambda_0) = \begin{pmatrix} \phi_3(x, \lambda_0) & \psi_3(x, \lambda_0) \\ \phi'_3(x, \lambda_0) & \psi'_3(x, \lambda_0) \end{pmatrix}$$

the rank of matrix $A(x, \lambda_0)$ as $R(A(x, \lambda_0))$. Similarly, $B(x, \lambda_0)$ as $R(B(x, \lambda_0))$ and $C(x, \lambda_0)$ as $R(C(x, \lambda_0))$.

Corollary 1.7. The geometric multiplicity of λ_0 as an eigenvalue of the problem (1) – (3) is equal to $2m - R(A(x, \lambda_0))$ or $2m - R(B(x, \lambda_0))$ or $2m - R(C(x, \lambda_0))$.

Corollary 1.8. $R(A(x, \lambda_0))$, $R(B(x, \lambda_0))$ or $R(C(x, \lambda_0))$ is at least equal to m , so the geometric multiplicity of λ_0 varies from 1 to m . When the geometric multiplicity of an eigenvalue is m , we say the eigenvalue has maximal (full) multiplicity. In this study, we refer multiplicity as the geometric multiplicity.

An entire function of non-integer order has an infinite set of zeros. The zeros of an analytic function which does not vanish identically are isolated [3]. $\psi'_1(0, \lambda)$ and $\phi'_3(\pi, \lambda)$ are entire function of order $\frac{1}{2}$ matrices. The sums and products of such functions are entire of order not exceeding $\frac{1}{2}$. Hence, the determinants of $\psi'_1(0, \lambda)$ and $\phi'_3(\pi, \lambda)$, that is, the characteristic functions are also non-integer.

Eigenvalues for (1)–(3) are real. The boundary value problem (1)–(3) has a countable number of eigenvalues that grow unlimitedly, when those are ordered according to their absolute value.

The norm of a constant matrix as well as the norm of a matrix function A is denoted by $\|A\|$.

$A(x) = (a_{ij})^m_{i,j=1} : I \rightarrow M^R_{m \times m}$, for any $x \in I$, the norm of $A(x)$ may be taken as

$$\|A(x)\| = \max_{1 \leq i \leq m} \sum_{j=1}^m |a_{ij}| \tag{20}$$

Let $\lambda = s^2, s = \sigma + i\tau, \sigma, \tau \in \mathbb{R}$. We have the following three lemmas.

Lemma 1.9. When $|\lambda| \rightarrow \infty$, the following asymptotic formulas hold on $0 < x < a_1$,

$$\phi_1(x, \lambda) = \cos(\lambda x) E_m + O(|\lambda|^{-1} e^{|\sigma|x}) \tag{21}$$

$$\phi'_1(x, \lambda) = -\lambda \sin(\lambda x) E_m + O(e^{|\sigma|x}) \tag{22}$$

Proof. See [1]. \square

Lemma 1.10. When $|\lambda| \rightarrow \infty$, $\phi_2(x, \lambda)$ and $\phi'_2(x, \lambda)$ have the following asymptotic formulas on $a_1 < x < a_2$,

$$\phi_2(x, \lambda) = \frac{1}{2} \alpha^+ \exp\left(-i\left(\lambda \mu^+(x) - \frac{1}{\alpha} \int_{a_1}^x p(t) dt\right)\right) E_m \left(1 + O\left(\frac{1}{\lambda}\right)\right) \tag{23}$$

$$\phi'_2(x, \lambda) = \frac{1}{2} \alpha^+ (p(x) - \lambda \alpha) i \exp\left(-i\left(\lambda \mu^+(x) - \frac{1}{\alpha} \int_{a_1}^x p(t) dt\right)\right) E_m + O(1) \tag{24}$$

where $\mu^\mp(x) = \mp \alpha x \pm \alpha a_1 + a_1, \alpha^\pm = \frac{1}{2} \left(1 \pm \frac{1}{\alpha}\right)$.

Proof. Since $\phi_2(x, \lambda)$ is the solution of initial value problem (6), we have

$$\begin{aligned} \phi_2(x, \lambda) &= \alpha^+ \cos \left[\lambda \mu^+(x) - \frac{1}{\alpha} \int_{a_1}^x p(t) dt \right] E_m \\ &+ \alpha^- \cos \left[\lambda \mu^-(x) + \frac{1}{\alpha} \int_{a_1}^x p(t) dt \right] E_m + O\left(\frac{1}{\lambda} e^{\sigma \mu^+(x)}\right). \end{aligned}$$

We get

$$\begin{aligned} \phi_2(x, \lambda) &= \frac{1}{2} \alpha^+ e^{i \left[\lambda \mu^+(x) - \frac{1}{\alpha} \int_{a_1}^x p(t) dt \right]} E_m + \frac{1}{2} \alpha^+ e^{-i \left[\lambda \mu^+(x) - \frac{1}{\alpha} \int_{a_1}^x p(t) dt \right]} E_m \\ &+ \frac{1}{2} \alpha^- e^{i \left[\lambda \mu^-(x) + \frac{1}{\alpha} \int_{a_1}^x p(t) dt \right]} E_m + \frac{1}{2} \alpha^- e^{-i \left[\lambda \mu^-(x) + \frac{1}{\alpha} \int_{a_1}^x p(t) dt \right]} E_m + O\left(\frac{1}{\lambda} e^{\sigma \mu^+(x)}\right) \end{aligned} \tag{25}$$

Let $f(x, \lambda) := O\left(\frac{1}{\lambda} e^{\sigma \mu^+(x)}\right)$ and note that

$$\phi_2(x, \lambda) = \frac{1}{2} \alpha^+ e^{-i \left[\lambda \mu^+(x) - \frac{1}{\alpha} \int_{a_1}^x p(t) dt \right]} E_m + (1 + g(x, \lambda)).$$

From a simple computation at equations (25), we get

$$\begin{aligned} g(x, \lambda) &= e^{2i \left[\lambda \mu^+(x) - \frac{1}{\alpha} \int_{a_1}^x p(t) dt \right]} E_m + \frac{\alpha-1}{\alpha+1} e^{2i \lambda a_1} E_m + \frac{\alpha-1}{\alpha+1} e^{2i \left[\lambda \alpha(x-a_1) - \frac{v(x)}{\alpha} \right]} E_m \\ &+ \frac{2e^{i \left[\lambda \mu^+(x) - \frac{1}{\alpha} \int_{a_1}^x p(t) dt \right]}}{\alpha^+} f(x, \lambda) E_m. \end{aligned}$$

Let's examine $g(x, \lambda) = O\left(\frac{1}{\lambda}\right)$ accuracy.

$$\begin{aligned} |g(x, \lambda)| &\leq \left| e^{2i \left[\lambda \mu^+(x) - \frac{1}{\alpha} \int_{a_1}^x p(t) dt \right]} E_m \right| + \left| \frac{\alpha-1}{\alpha+1} e^{2i \lambda a_1} E_m \right| + \left| \frac{\alpha-1}{\alpha+1} e^{2i \left[\lambda \alpha(x-a_1) - \frac{v(x)}{\alpha} \right]} E_m \right| \\ &+ \left| \frac{e^{i \left[\lambda \mu^+(x) - \frac{v(x)}{\alpha} \right]}}{s^+} E_m f(x, \lambda) \right| + \left| \frac{2e^{i \left[\lambda \mu^+(x) - \frac{1}{\alpha} \int_{a_1}^x p(t) dt \right]}}{\alpha^+} f(x, \lambda) E_m \right| \\ &\leq e^{-2\sigma \mu^+(x)} E_m + \left| \frac{s^-}{s^+} \right| e^{-2\sigma a_1} E_m + \left| \frac{s^-}{s^+} \right| e^{-2\sigma \alpha x} E_m + \frac{c}{\lambda} e^{-\sigma \mu^+(x)} e^{\sigma \mu^+(x)} E_m \end{aligned}$$

Furthermore, $\sigma > \varepsilon |\lambda|$, $\varepsilon > 0$ in D. Thus, $-\sigma < -\varepsilon |\lambda|$ and $e^{-2\sigma \mu^+(x)} < e^{-\varepsilon |\lambda| \mu^+(x)}$. Since $\frac{x}{e^x} \rightarrow 0$, $x < c e^{\mu^+(x)}$ ($c > 0$). Thus, $e^{-2\sigma \mu^+(x)} < \frac{c}{\varepsilon |\lambda| \mu^+(x)}$. We get

$g(x, \lambda) = O\left(\frac{1}{\lambda}\right) \lambda \rightarrow \infty$. Hence,

$$\phi_2(x, \lambda) = \frac{1}{2} \alpha^+ \exp \left(-i \left(\lambda \mu^+(x) - \frac{1}{\alpha} \int_{a_1}^x p(t) dt \right) \right) E_m \left(1 + O\left(\frac{1}{\lambda}\right) \right), |\lambda| \rightarrow \infty.$$

Derivating both sides of (23) and using the first formula (25), we could get the formula of (24) similarly. \square

Lemma 1.11. When $|\lambda| \rightarrow \infty$, $\phi_3(x, \lambda)$ and $\phi_3'(x, \lambda)$ have the following asymptotic formulas on $a_2 < x < \pi$,

$$\phi_3(x, \lambda) = \frac{1}{2} \beta^+ \exp \left(-i \left(\lambda k^+(x) - \frac{1}{\beta} \int_{a_2}^x p(t) dt \right) \right) E_m \left(1 + O\left(\frac{1}{\lambda}\right) \right) \tag{26}$$

$$\phi_3'(x, \lambda) = \frac{1}{2} \beta^+ (p(x) - \lambda \beta) i \exp \left(-i \left(\lambda k^+(x) - \frac{1}{\beta} \int_{a_2}^x p(t) dt \right) \right) E_m + O(1) \tag{27}$$

where $k^\pm(x) = \pm \beta x \mp \beta a_2 + \mu^\pm(a_2)$, $s^\pm(x) = \pm \beta x \mp \beta a_2 + \mu^\mp(a_2)$, $\beta_2^\mp = \frac{1}{2} \left(\alpha_2 \mp \frac{\alpha \beta_2}{\beta} \right)$.

Proof. Since $\phi_3(x, \lambda)$ is the solution of initial value problem (9), we have

$$\begin{aligned} \phi_3(x, \lambda) &= \beta^+ \cos \left[\lambda k^+(x) - \frac{1}{\beta} \int_{a_2}^x p(t) dt \right] + \beta^- \cos \left[\lambda k^-(x) - \frac{1}{\beta} \int_{a_2}^x p(t) dt \right] \\ &+ \beta^- \cos \left[\lambda s^+(x) + \frac{1}{\beta} \int_{a_2}^x p(t) dt \right] + \beta^+ \cos \left[\lambda s^-(x) + \frac{1}{\beta} \int_{a_2}^x p(t) dt \right] + O\left(\frac{1}{\lambda} e^{\sigma k^+(x)}\right) \end{aligned}$$

We get

$$\begin{aligned} \phi_3(x, \lambda) &= \frac{\beta^+}{2} e^{i\left[\lambda k^+(x) - \frac{1}{\beta} \int_{a_2}^x p(t) dt\right]} + \frac{\beta^+}{2} e^{-i\left[\lambda k^+(x) - \frac{1}{\beta} \int_{a_2}^x p(t) dt\right]} \\ &+ \frac{\beta^-}{2} e^{i\left[\lambda k^-(x) - \frac{1}{\beta} \int_{a_2}^x p(t) dt\right]} + \frac{\beta^-}{2} e^{-i\left[\lambda k^-(x) - \frac{1}{\beta} \int_{a_2}^x p(t) dt\right]} \\ &+ \frac{\beta^-}{2} e^{i\left[\lambda s^+(x) + \frac{1}{\beta} \int_{a_2}^x p(t) dt\right]} + \frac{\beta^-}{2} e^{-i\left[\lambda s^+(x) + \frac{1}{\beta} \int_{a_2}^x p(t) dt\right]} \\ &+ \frac{\beta^+}{2} e^{i\left[\lambda s^-(x) + \frac{1}{\beta} \int_{a_2}^x p(t) dt\right]} + \frac{\beta^+}{2} e^{-i\left[\lambda s^-(x) + \frac{1}{\beta} \int_{a_2}^x p(t) dt\right]} + O\left(\frac{1}{\lambda} e^{\sigma k^+(x)}\right) \end{aligned} \tag{28}$$

Let $f(x, \lambda) := O\left(\frac{1}{\lambda} e^{\sigma k^+(x)}\right)$ and note that

$$\phi_3(x, \lambda) = \frac{\beta^+}{2} e^{-i\left[\lambda k^+(x) - \frac{1}{\beta} \int_{a_2}^x p(t) dt\right]} E_m + (1 + g(x, \lambda))$$

From a simple calculation at equation (28), we get

$$\begin{aligned} g(x, \lambda) &= e^{2i\left[\lambda k^+(x) - \frac{1}{\beta} \int_{a_2}^x p(t) dt\right]} E_m + \frac{\beta^-}{\beta^+} e^{2i\left[(\beta\pi - \beta a_2 + a_1) - \frac{1}{\beta} \int_{a_2}^x p(t) dt\right]} E_m \\ &+ \frac{\beta^-}{\beta^+} e^{2i\left[\alpha(a_2 - a_1) - \frac{1}{\beta} \int_{a_2}^x p(t) dt\right]} E_m + \frac{\beta^-}{\beta^+} e^{2i\mu^+(a_2)} + \frac{\beta^-}{\beta^+} e^{2i\beta(\pi - a_2)} \\ &+ e^{2ia_1} + e^{2i[\beta\pi - \beta a_2 + \alpha a_2 - \alpha a_1]} + \frac{e^{i\left[\lambda k^+(x) - \frac{1}{\beta} \int_{a_2}^x p(t) dt\right]}}{\beta^+} f(x, \lambda) E_m \end{aligned}$$

Let's examine $g(x, \lambda) = O\left(\frac{1}{\lambda}\right)$ accuracy.

$$\begin{aligned} |g(x, \lambda)| &\leq \left| e^{2i\left[\lambda k^+(x) - \frac{1}{\beta} \int_{a_2}^x p(t) dt\right]} E_m \right| + \left| \frac{\beta^-}{\beta^+} e^{2i\left[(\beta\pi - \beta a_2 + a_1) - \frac{1}{\beta} \int_{a_2}^x p(t) dt\right]} E_m \right| \\ &+ \left| \frac{\beta^-}{\beta^+} e^{2i\left[\alpha(a_2 - a_1) - \frac{1}{\beta} \int_{a_2}^x p(t) dt\right]} E_m \right| + \left| \frac{\beta^-}{\beta^+} e^{2i\mu^+(a_2)} E_m \right| + \left| \frac{\beta^-}{\beta^+} e^{2i\beta(\pi - a_2)} E_m \right| \\ &+ \left| e^{2ia_1} E_m \right| + \left| e^{2i[\beta\pi - \beta a_2 + \alpha a_2 - \alpha a_1]} E_m \right| + \left| \frac{e^{i\left[\lambda k^+(x) - \frac{1}{\beta} \int_{a_2}^x p(t) dt\right]}}{\beta^+} f(x, \lambda) E_m \right| \\ &\leq e^{-2\sigma k^+(x)} + \left| \frac{\beta^-}{\beta^+} \right| e^{-2\sigma k^+(x)} + \left| \frac{\beta^-}{\beta^+} \right| e^{-2\sigma a_2} + \left| \frac{\beta^-}{\beta^+} \right| e^{-2\sigma a_2} + \left| \frac{\beta^-}{\beta^+} \right| e^{-2\sigma\beta x} \\ &+ e^{-2\sigma a_1} + e^{-2\sigma k^+(x)} + \frac{c}{\lambda} e^{-2\sigma k^+(x)} e^{2\sigma k^+(x)} \end{aligned}$$

In addition to, $\sigma > \varepsilon |\lambda|$, $\varepsilon > 0$ in D . Thus, $-\sigma < -\varepsilon |\lambda|$ and $e^{-2\sigma k^+(x)} < e^{-\varepsilon |\lambda| k^+(x)}$

Since $\frac{x}{e^x} \rightarrow 0$, $x < c e^{k^+(x)}$ ($c > 0$). Thus, $e^{-2\sigma k^+(x)} < \frac{c}{\varepsilon |\lambda| k^+(x)}$. We get

$g(x, \lambda) = O\left(\frac{1}{\lambda}\right)$ $\lambda \rightarrow \infty$. Hence,

$$\phi_3(x, \lambda) = \frac{1}{2} \beta^+ \exp\left(-i\left(\lambda k^+(x) - \frac{1}{\beta} \int_{a_2}^x p(t) dt\right)\right) E_m \left(1 + O\left(\frac{1}{\lambda}\right)\right), |\lambda| \rightarrow \infty.$$

Derivating both sides of (26) and using the first formula (28), we could get the formula of (27) similarly. \square

2. Multiplicities of eigenvalues of the vectorial problem

In the section, we find the conditions on the potential matrix function $(2\lambda p(x) + q(x))$, under some conditions, the problem (1) – (3) can only have a finite number of eigenvalues with multiplicity m . Where $p(x) \in W_2^1[0, \pi]$ ve $p(x) = \{p_{ij}(x)\}_{i,j=1}^m$, $q(x) \in L_2[0, \pi]$ and $q(x) = \{q_{ij}(x)\}_{i,j=1}^m$.

Theorem 2.1. Let $m \geq 2$. Assume that, for some $i, j \in \{1, 2, \dots, m\}$ with $i \neq j$

either

$$(i) \int_0^{a_1} p_{ij}(x) dx + \frac{(\alpha^+)^2}{4} \int_{a_1}^{a_2} p_{ij}(x) dx + \frac{(\beta^+)^2}{4} \int_{a_2}^{\pi} p_{ij}(x) dx \neq 0$$

$$\int_0^{a_1} q_{ij}(x) dx + \frac{(\alpha^+)^2}{4} \int_{a_1}^{a_2} q_{ij}(x) dx + \frac{(\beta^+)^2}{4} \int_{a_2}^{\pi} q_{ij}(x) dx \neq 0 \tag{29}$$

or

$$(ii) \int_0^{a_1} [p_{ii}(x) - p_{jj}(x)] dx + \frac{(\alpha^+)^2}{4} \int_{a_1}^{a_2} [p_{ii}(x) - p_{jj}(x)] dx + \frac{(\beta^+)^2}{4} \int_{a_2}^{\pi} [p_{ii}(x) - p_{jj}(x)] dx \neq 0$$

$$\int_0^{a_1} [q_{ii}(x) - q_{jj}(x)] dx + \frac{(\alpha^+)^2}{4} \int_{a_1}^{a_2} [q_{ii}(x) - q_{jj}(x)] dx + \frac{(\beta^+)^2}{4} \int_{a_2}^{\pi} [q_{ii}(x) - q_{jj}(x)] dx \neq 0 \tag{30}$$

where $\alpha^\pm = \frac{1}{2} \left(1 \pm \frac{1}{\alpha}\right)$, $\beta^\pm = \frac{1}{2} \left(1 \pm \frac{1}{\beta}\right)$. Then, with finitely many exceptions. The multiplicities of the eigenvalues of the problem (1) – (3) are at most $m - 1$.

Proof. (i) We assume that (29) holds. Suppose, to the contrary, that there exists a sequence of eigenvalues $\{\lambda_n\}_{n=1}^\infty$ whose multiplicities are all m . Obviously, $\lambda_n \rightarrow \infty$ as $n \rightarrow \infty$. From the equations in (9). Denoting $\phi_3(x, \lambda) = \{y_{ij}^+(x)\}_{i,j=1}^m$, when $\lambda = \lambda_n$ for $n = 1, 2, \dots$, we get

$$\left(y_{ii}^+\right)''(x) + (\lambda - (2\lambda p_{ii}(x) + q_{ii}(x))) y_{ii}^+(x) - \sum_{k \neq i} (2\lambda p_{ik}(x) + q_{ik}(x)) y_{ki}^+(x) = 0 \tag{31}$$

and

$$\left(y_{ij}^+\right)''(x) + (\lambda - (2\lambda p_{ii}(x) + q_{ii}(x))) y_{ij}^+(x) - \sum_{k \neq j} (2\lambda p_{ik}(x) + q_{ik}(x)) y_{kj}^+(x) = 0 \tag{32}$$

Multiplying (31) and (32) by $y_{ij}^+(x)$ and $y_{ii}^+(x)$ respectively, then subtracting one from the other and using (26), noting that the eigenvalues of the problem are all real, we have

$$\begin{aligned} \left(\left(y_{ii}^+\right)'(x) y_{ij}^+(x) - y_{ii}^+(x) \left(y_{ij}^+\right)'(x)\right)' &= \sum_{k \neq i} (2\lambda p_{ik}(x) + q_{ik}(x)) \left(y_{ki}^+(x) y_{ij}^+(x) - y_{ii}^+(x) y_{kj}^+(x)\right) \\ &= (2\lambda p_{ij}(x) + q_{ij}(x)) \left[y_{ij}^+(x) y_{ji}^+(x) - y_{ii}^+(x) y_{ij}^+(x)\right] \\ &\quad + \sum_{k \neq i, j} (2\lambda p_{ij}(x) + q_{ij}(x)) \left(y_{ki}^+(x) y_{ij}^+(x) - y_{ii}^+(x) y_{kj}^+(x)\right) \\ &= -(2\lambda p_{ij}(x) + q_{ij}(x)) \left[\frac{(\beta^+)^2}{4} \cos^2\left(\lambda k^+(x) - \frac{1}{\beta} \int_{a_2}^x p(t) dt\right)\right] + O\left(1 + \frac{1}{\lambda}\right) \end{aligned} \tag{33}$$

similarly, from the equations in (6), denoting $\phi_2(x, \lambda) = \{y_{ij}^-(x)\}_{i,j=1}^m$, we get

$$\begin{aligned} \left(\left(y_{ii}^-\right)'(x) y_{ij}^-(x) - y_{ii}^-(x) \left(y_{ij}^-\right)'(x)\right)' &= \\ &= -(2\lambda p_{ij}(x) + q_{ij}(x)) \left[\frac{(\alpha^+)^2}{4} \cos^2\left(\lambda \mu^+(x) - \frac{1}{\alpha} \int_{a_1}^x p(t) dt\right)\right] + O\left(1 + \frac{1}{\lambda}\right) \end{aligned} \tag{34}$$

similarly, from the equations in (4), denoting $\phi_1(x, \lambda) = \{y_{ij}^0(x)\}_{i,j=1}^m$, we get

$$\left(\left(y_{ii}^0\right)'(x) y_{ij}^0(x) - y_{ii}^0(x) \left(y_{ij}^0\right)'(x)\right)' = -(2\lambda p_{ij}(x) + q_{ij}(x)) \left[\cos^2(\lambda x)\right] + O\left(\frac{1}{\lambda}\right) \tag{35}$$

When λ is an eigenvalue with multiplicity m , we have $\phi_3'(\pi, \lambda) = 0_m$. By integrating both sides of (33) from a_2 to π , for $\lambda_n \rightarrow \lambda$ and $n \rightarrow \infty$, we obtain

$$\begin{aligned} -\left(\left(y_{ii}^+\right)'(x) y_{ij}^+(x) - y_{ii}^+(x) \left(y_{ij}^+\right)'(x)\right) &= \\ &= \int_{a_2}^{\pi} \left[-(2\lambda p_{ij}(x) + q_{ij}(x)) \left[\frac{(\beta^+)^2}{4} \cos^2\left(\lambda k^+(x) - \frac{1}{\beta} \int_{a_2}^x p(t) dt\right)\right] + O\left(\frac{1}{\lambda}\right)\right] dx \end{aligned} \tag{36}$$

By integrating both sides of (34) from a_1 to a_2 and applying the boundary condition

$$\begin{aligned}
 -\left((y_{ii}^-)'(x) y_{ij}^-(x) - y_{ii}^-(x) (y_{ij}^-)'(x) \right) &= \\
 &= \int_{a_1}^{a_2} \left[-\left(2\lambda p_{ij}(x) + q_{ij}(x) \right) \left[\frac{(\alpha^+)^2}{4} \cos^2 \left(\lambda \mu^+(x) - \frac{1}{\alpha} \int_{a_1}^x p(t) dt \right) \right] + O\left(\frac{1}{\lambda}\right) \right] dx
 \end{aligned} \tag{37}$$

By integrating both sides of (35) from 0 to a_1 and applying the boundary condition $\phi_1'(0, \lambda) = 0_m$, we obtain, for $\lambda_n \rightarrow \lambda$ and $n \rightarrow \infty$,

$$\left((y_{ii}^0)'(x) y_{ij}^0(x) - y_{ii}^0(x) (y_{ij}^0)'(x) \right) = - \int_0^{a_1} \left[\left(2\lambda p_{ij}(x) + q_{ij}(x) \right) \left[\cos^2(\lambda x) \right] + O\left(\frac{1}{\lambda}\right) \right] dx \tag{38}$$

Sum the above (36), (37) and (38), then use the initial conditions at point $x = a_1$ and $x = a_2$, we get

$$\begin{aligned}
 0 &= - \int_0^{a_1} \left[\left(2\lambda p_{ij}(x) + q_{ij}(x) \right) \left[\cos^2(\lambda x) \right] + O\left(\frac{1}{\lambda}\right) \right] dx \\
 &+ \int_{a_1}^{a_2} \left[-\left(2\lambda p_{ij}(x) + q_{ij}(x) \right) \left[\frac{(\alpha^+)^2}{4} \cos^2 \left(\lambda \mu^+(x) - \frac{1}{\alpha} \int_{a_1}^x p(t) dt \right) \right] \right] dx \\
 &+ \int_{a_2}^{\pi} \left[-\left(2\lambda p_{ij}(x) + q_{ij}(x) \right) \left[\frac{(\beta^+)^2}{4} \cos^2 \left(\lambda k^+(x) - \frac{1}{\alpha} \int_{a_1}^x p(t) dt \right) \right] \right] dx + O\left(\frac{1}{\lambda}\right)
 \end{aligned}$$

By a simple computation, one can see that

$$\begin{aligned}
 &\int_0^{a_1} \left(2\lambda p_{ij}(x) + q_{ij}(x) \right) dx + \frac{(\alpha^+)^2}{4} \int_{a_1}^{a_2} \left(2\lambda p_{ij}(x) + q_{ij}(x) \right) dx + \frac{(\beta^+)^2}{4} \int_{a_2}^{\pi} \left(2\lambda p_{ij}(x) + q_{ij}(x) \right) dx \\
 &= - \int_0^{a_1} \left[\left(2\lambda p_{ij}(x) + q_{ij}(x) \right) \cos 2\lambda x \right] dx \\
 &- \int_{a_1}^{a_2} \left[\left(2\lambda p_{ij}(x) + q_{ij}(x) \right) \left[\frac{(\alpha^+)^2}{4} \cos 2 \left(\lambda \mu^+(x) - \frac{1}{\alpha} \int_{a_1}^x p(t) dt \right) \right] \right] dx \\
 &- \int_{a_2}^{\pi} \left[\left(2\lambda p_{ij}(x) + q_{ij}(x) \right) \left[\frac{(\beta^+)^2}{4} \cos 2 \left(\lambda k^+(x) - \frac{1}{\alpha} \int_{a_1}^x p(t) dt \right) \right] \right] dx + O\left(\frac{1}{\lambda}\right) \\
 &= -2\lambda \int_0^{a_1} p_{ij}(x) \cos(2\lambda x) dx - \int_0^{a_1} q_{ij}(x) \cos(2\lambda x) dx - 2\lambda \frac{(\alpha^+)^2}{4} \int_{a_1}^{a_2} p_{ij}(x) \cos 2\lambda \mu^+(x) \cos \frac{2v(x)}{\alpha} dx \\
 &- \frac{(\alpha^+)^2}{4} \int_{a_1}^{a_2} q_{ij}(x) \cos 2\lambda \mu^+(x) \cos \frac{2v(x)}{\alpha} dx - 2\lambda \frac{(\alpha^+)^2}{4} \int_{a_1}^{a_2} p_{ij}(x) 2\lambda \mu^+(x) \sin \frac{2v(x)}{\alpha} dx \\
 &- \frac{(\alpha^+)^2}{4} \int_{a_1}^{a_2} q_{ij}(x) \sin 2\lambda \mu^+(x) \sin \frac{2v(x)}{\alpha} dx - 2\lambda \frac{(\beta^+)^2}{4} \int_{a_2}^{\pi} p_{ij}(x) \cos 2\lambda k^+(x) \cos \frac{2t(x)}{\beta} dx \\
 &- \frac{(\beta^+)^2}{4} \int_{a_2}^{\pi} q_{ij}(x) \cos 2\lambda k^+(x) \cos \frac{2t(x)}{\beta} dx - 2\lambda \frac{(\beta^+)^2}{4} \int_{a_2}^{\pi} p_{ij}(x) \sin 2\lambda k^+(x) \sin \frac{2t(x)}{\beta} dx \\
 &- \frac{(\beta^+)^2}{4} \int_{a_2}^{\pi} q_{ij}(x) \sin 2\lambda k^+(x) \sin \frac{2t(x)}{\beta} dx
 \end{aligned} \tag{39}$$

where $v(x) = \int_{a_1}^x p(t) dt$, $t(x) = \int_{a_2}^x p(t) dt$. Then, we obtain, for $\lambda_n \rightarrow \infty$ and $n \rightarrow \infty$,

$$\begin{aligned}
 &= -2 \int_0^{a_1} p_{ij}(x) \cos(2\lambda x) dx - 2 \frac{(\alpha^+)^2}{4} \int_{a_1}^{a_2} p_{ij}(x) \cos 2\lambda \mu^+(x) \cos \frac{2v(x)}{\alpha} dx \\
 &- 2 \frac{(\alpha^+)^2}{4} \int_{a_1}^{a_2} p_{ij}(x) 2\lambda \mu^+(x) \sin \frac{2v(x)}{\alpha} dx - 2 \frac{(\beta^+)^2}{4} \int_{a_2}^{\pi} p_{ij}(x) \cos 2\lambda k^+(x) \cos \frac{2t(x)}{\beta} dx \\
 &- 2 \frac{(\beta^+)^2}{4} \int_{a_2}^{\pi} p_{ij}(x) \sin 2\lambda k^+(x) \sin \frac{2t(x)}{\beta} dx
 \end{aligned}$$

By Riemann-Lebesgue Lemma, the right side of (39) approaches 0 as $\lambda_n = \lambda$ and $n \rightarrow \infty$. This implies that

$$\begin{aligned}
 \int_0^{a_1} p_{ij}(x) dx + \frac{(\alpha^+)^2}{4} \int_{a_1}^{a_2} p_{ij}(x) dx + \frac{(\beta^+)^2}{4} \int_{a_2}^{\pi} p_{ij}(x) dx &= 0 \\
 \int_0^{a_1} q_{ij}(x) dx + \frac{(\alpha^+)^2}{4} \int_{a_1}^{a_2} q_{ij}(x) dx + \frac{(\beta^+)^2}{4} \int_{a_2}^{\pi} q_{ij}(x) dx &= 0
 \end{aligned}$$

We have reached a contradiction. The conclusion for this case is proved.

(ii) Next, we assume that

$$\int_0^{\alpha_1} (2\lambda p_{ij}(x) + q_{ij}(x)) dx + \frac{(\alpha^+)^2}{4} \int_{a_1}^{\alpha_2} (2\lambda p_{ij}(x) + q_{ij}(x)) dx + \frac{(\beta^+)^2}{4} \int_{a_2}^{\pi} (2\lambda p_{ij}(x) + q_{ij}(x)) dx = 0$$

or

$$\int_0^{\alpha_1} s_{ij}(x) dx + \frac{(\alpha^+)^2}{4} \int_{a_1}^{\alpha_2} s_{ij}(x) dx + \frac{(\beta^+)^2}{4} \int_{a_2}^{\pi} s_{ij}(x) dx = 0, \forall i \neq j,$$

where $s_{ij}(x) = (2\lambda p_{ij}(x) + q_{ij}(x))$.

and

$$\int_0^{\alpha_1} [s_{ii}(x) - s_{jj}(x)] dx + \frac{(\alpha^+)^2}{4} \int_{a_1}^{\alpha_2} [s_{ii}(x) - s_{jj}(x)] dx + \frac{(\beta^+)^2}{4} \int_{a_2}^{\pi} [s_{ii}(x) - s_{jj}(x)] dx \neq 0$$

without loss of generality, we assume that for $i = 1, j = 2$

$$\int_0^{\alpha_1} [s_{11}(x) - s_{22}(x)] dx + \frac{(\alpha^+)^2}{4} \int_{a_1}^{\alpha_2} [s_{11}(x) - s_{22}(x)] dx + \frac{(\beta^+)^2}{4} \int_{a_2}^{\pi} [s_{11}(x) - s_{22}(x)] dx \neq 0$$

$$K = \begin{bmatrix} \frac{1}{2} & -\frac{1}{2} & & & \\ \frac{1}{2} & \frac{1}{2} & & & \\ & & 1 & & \\ & & & \ddots & \\ & & & & 1 \end{bmatrix} \quad K = \begin{bmatrix} \frac{1}{2} & -\frac{1}{2} & & & \\ \frac{1}{2} & \frac{1}{2} & & & \\ & & 1 & & \\ & & & \ddots & \\ & & & & 1 \end{bmatrix}$$

and $y = K \cdot t$. Then, the problem (1) – (3) becomes

$$\left. \begin{aligned} t'' + (\lambda^2 \delta(x) - R(x))t &= 0 \\ t'(0) = t'(\pi) &= 0 \end{aligned} \right\} \tag{40}$$

where $R(x) = K^{-1}S(x)K$. By making a simple computation, we get

$$R(x) = \begin{bmatrix} \frac{1}{4}(s_{11} + s_{22}) + s_{12} & \frac{1}{4}(s_{22} - s_{11}) & * & * & * \\ \frac{1}{4}(s_{22} - s_{11}) & \frac{1}{4}(s_{11} + s_{22}) + s_{12} & * & * & * \\ * & * & q_{33} & \dots & \\ * & * & \vdots & \ddots & \\ * & * & \dots & \dots & q_{mm} \end{bmatrix} (x)$$

We note that the two problems (1) – (3) and (40) have exactly the same spectral structure. Denote $R(x) = \{r_{ij}(x)\}_{i,j=1}^m$. Since

$$\int_0^{\alpha_1} r_{12}(x) dx + \frac{(\alpha^+)^2}{4} \int_{a_1}^{\alpha_2} r_{12}(x) dx + \frac{(\beta^+)^2}{4} \int_{a_2}^{\pi} r_{12}(x) dx = \int_0^{\alpha_1} [s_{11}(x) - s_{22}(x)] dx + \frac{(\alpha^+)^2}{4} \int_{a_1}^{\alpha_2} [s_{11}(x) - s_{22}(x)] dx + \frac{(\beta^+)^2}{4} \int_{a_2}^{\pi} [s_{11}(x) - s_{22}(x)] dx \neq 0$$

By part (i), the conclusion of the theorem holds for the problem (40), and hence holds for the problem (1) – (3). \square

References

[1] Agranovich ZS, Marchenco VA. The inverse problem of scattering theory. Gordon and Breach Science Publisher. New York-London. 1963.
 [2] Bellmann R. Introduction to matrix analysis (2nd ed.) McGraw-Hill. 1970.
 [3] Boas RP. Entire functions. Academic press. New York. 1954.
 [4] Kong Q. Multiplicities of eigenvalues of a vector-valued Sturm-Liouville Problem. Mathematica. 49(1-2), 2002, 119-127.

- [5] Shen CL, Shieh C. On the multiplicity of eigenvalues of a vectorial Sturm-Liouville differential equations and some related spectral problems. Proc. Amer. Math. Soc. 127(10), 1999, 2943-2952.
- [6] Yang CF, Huang ZY, Yang XP. The multiplicity of spectra of a vectorial Sturm-Liouville differential equation of dimension two and some applications. Rock mountain journal of Mathematics.37(4) 2007, 1379-1398.
- [7] Amirov RK. On Sturm-Liouville operators with discontinuity conditions inside an interval. Journal of Mathematical Analysis and Applications. 317(1), 2006, 163-176.
- [8] Carvert JM, Davison WD. Oscillation theory and computational procedures for matrix Sturm-Liouville eigenvalue problems with an application to the hydrogen molecular ion. Journal of Physics A Mathematical and General. 2(3), 1969, 278-292.
- [9] Müller G. The reflectivity method a tutorial. J. Geophys. 58, 1985, 153-174.
- [10] Kauffman RM, Zhang HK. A class of ordinary differential operators with jump boundary conditions. Lecture notes in Pure and Appl. Math.234, 2003, 253-274.
- [11] Mukhtarov O, Yakubov S. Problem for ordinary differential equations with transmission conditions. Appl. Anal, 81(5), 2002, 1033-1064.
- [12] Wang AP, Sun J, Zettl, A. Two-interval Sturm-Liouville operators in modified Hilbert spaces. Journal of Mathematical Analysis and Applications. 328(1), 2007, 390-399.
- [13] Guseinov GSh. On the spectral analysis of a quadratic pencil of Sturm-Liouville operators. Doklady Akad. Nauk SSSR. 285, 1985, 1292-1296.
- [14] Gasymov MG, Guseinov GSh. Determination diffusion operator on spectral data, SSSR Dokl. 37(2), 1981, 19-23.
- [15] Koyunbakan H, Panakhov ES. Half inverse problem for diffusion operators on the finite interval. J. Math. Anal. Appl. 326, 2007, 1024-1030.
- [16] Ergun A, Amirov RK. Direct and Inverse problem for Diffusion operator with Discontinuity points. TWMS J. App. Eng. Math. 9, 2019, 9-21.
- [17] Yurko VA. Introduction to the Theory of Inverse Spectral Problems. Russian. Fizmatlit. 2007.
- [18] Levitan BM, Sargsyan IS. Introduction to Spectral Theory. Amer. Math. Soc. 1975.
- [19] Marchenko VA. Sturm-Liouville Operators and Applications. AMS. Chelsea Publishing. 1986.
- [20] Titchmarsh EC. The Theory of Functions. Oxford at the clarendon press London. 1932.
- [21] Levitan BM. Inverse Sturm-Liouville Problems. Engl. Transl. NU Science Press. 1987.
- [22] Vakanas LP. A scattering parameter based method for the transient analysis of lossy, coupled, nonlinearly terminated transmission line systems in high-speed microelectronic circuits. IEEE Transactions on Components Packaging and Manufacturing Technology Part B. 17(4), 1994, 472-479.
- [23] Beck JV. Inverse Heat Conduction. John Wiley and Sons New York. 1985.
- [24] Kirkup SM, Wadsworth M. Computational solution of the atomic mixing equations: special methods and algorithm of impetus II. International Journal of Numerical Modelling. Electronic Networks Devices and Fields. 11, 1998, 207-219.